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Instructions for the candidates :

1.

qeraiTRT warEE A sl A § I3

Candidates are required to give their answers in their own words as far as
practicable.

gt st aford o R qu 3w e ffre w5 &1

Figures in the night hand margin indicate full marks.

@ wEA & wEgEE g1 & e 15fEe 1 sfafee gaa R mr #

15 minutes of extra time has been allotted to read the questions carefully.

I7 qvI9 21 @o3i § fave &, |vE-3 09 gvg-g

This question paper is divided into two sections — Section-A and Section-B.
avs- ¥ 48 awgive 9y & A sower sifrard &1 afc wmat 408 i st
& 37 A/t &, at waw 40 ITA FT & qedrwT fEar aem) ARE W & R
1 3 Fuiftd &1 OMRIT-T3% ¥ Ry 0 W8t g # Fwel/Alet ater 97 & 911 fvet

W} XE & g@TFeAT / AT Werd / &% / AT T T OMR IAT-YNE H HAIT
TaT &7 A=qUT QAT RO I qI
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hich 40 questions are
I SectionA there arc 48 objective type quer o:::?fnﬁ. the first 40 answery
compulsory. If the candidate answers more than 40 Q“'; Darken the correct circle
only will be evaluated. Each qucstion cames . Do not use whitener ;
given on the OMR answer sheet with black / blue ball p€ _ sheet othe he
liquid material / blade / nail etc. on the Faiee

result will be {invalld.

6. avE-w i b fam & s g S &
fewe 2 3w fritfrer &1  ssibletts o Bocin
In Section-B there are Short Answer Type question

Science. Each question cames 2 marks. - e 23 &

; ; e gyl & I ]
Flaarw 1 §&Y 317 777 (Q.Nos. 18 5) £ . 3, to S) out of which any
History has 5§ Short Answer Type questions (Q. Nos.

W:m?umhmm%

3 questions are to be answered.
oty faar i 6 ey ImiT ¥ (Q. Nos. 8 & 13 } frad fewl 29% & Im
e:’ '?I Nos. 8 to 13) out of

Political Sclence has 6 Short Answer Type questions (Q

which any 2 questions are to be answered. N . >
srebren 5 3oy 3T WA (O Nos 168 18) &, e et 2970 & I & &1
Economics has 3 Short Answer Type questions (Q. Nos. 16 1o 18) out of which any
2 questions are 1o be answered ’

sy i s ey 3 9 (Q Nos 21 & 29 & formi faet 3wl & 3T A &1
Geography has § Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are to be answered.

AT ST i 4 7y 3T 5¥ (Q. Nos. 28 # 31) & [l fee 29w & I
&1 &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) oul
of which any 2 questions are to be answered.

A& AR 8 < ITTT ¥ (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | FIE q¥ &
fere a4 3 Friifea &1 sfarm, ot famm, seiomer od ymier § g § 0F-0%
w¥7 &1 I & &

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 15, 19,
20, 20, 27). Each question carmes 4 marks. One Long Answer Type question each
Jrom History, Political Science, Economics and Geography is to be answered.

7. &9l W1 & selagiaa IvETOr &1 I9AT T&T F)

Do nol use any type of electronic instrument.
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WU - ¥ / SECTION - A

!nqﬁmm/ Objective Type Questions
R s 1R esax s rw o s R Ao o & P R ow wt

ST grT W3 v wHt Rwew w5 oMR Yz W RiftTa w1 A 40 v & o AT &

40 x 1 =40
Question Nos. 1 to 48 have four options cach, out of which only one is correct. Mark your

Selected option on the OMR shect. Answer any 40 questions. 40x 1 =40
1 el g & am v f #@9-@ s w1 3% afw g ® v =S
fere gan 2

A) T ) R

€ ¥ Jor” T ww

After the second great war which organisation in Europe emerged to remove the

economic ill eflects ?
(A) SAARC (B) NATO

(C) OPEC (D)  European Union

2. fow &1, o R A § § w39 ¢, w9l 93 a2

(A) & T (B) WA TR

(€) TEwg M D) ¥ vl

Who said printing is the greatest gift of God ?

(A\) Mahatma Gandhi (B) Martin Luther
(C)]  Prophet Muhammad (D) Jesus Christ
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3. mﬁmaﬁm\ﬂrﬂmﬂ‘lm?‘?

(B) 17 74
@A 16
e o) 19 ad
©r 8@
What is the minimum age to be @ voter in India ?
(A) 16 years (B) 17 years
(C) 18 years (D) 19 ycars
s Wi i fg WO ® 9 SO § 2 |
(A) g IR s ) wda &R HH
€ U@ R i () T HK e
What type of system of government is there in India ?
(A)  Federal and Presidential (B) Fedcral and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
5. WRA ¥ Fe & EwE IARE T ¢
(a)  of¥am dme (B FRGUS
(€ s ~ ) THE"
The leading coal producing state in India is
(A)  West Bengal (B) Jharkhand
(C) Odisha (D) Chhattisgarh

6. WRA % YN FAE-7EW IARE I §
(A) AR S AR e S (isco)

ﬁ/mmmmm (TISCO)
© R =¥ fad

) et de @ik T@m T
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The first iron and stecl producing industry is
(A)  Indian lron and Steel Company (IISCO)
(B}  Tata lron and Steel Company (TISCO)
(C)  Bokaro Stecl City

(D)  Viswesvaraya lron and Steel Plant

7.  wabm aw wafua R
A] ©EE B TWE at @
(C) AT A (D) agEM |

Golden Quadrilateral is related to

(Al Railways (B) Roadways
(C) Waterways (D)  Airways
8.  TvIH URA &
(A A g (B) drcHfRTR
() i 4 (D) BT H
Gandak project is in
(A}  Bettiah (B) Valmikinagar
(C)  Motihari (D) Chapra
9. frad 4 FF-H 1 I Aiwaits Gaa & FTE9 w7 § 2
(A)  HFA & T FEEA (B) WA wd fren g
IS SR YR e (D) FEHEEH A
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) m?
: ocratic syst¢
Which one of the following is not according to the dem

ir clection
(\)  Equality beforc law (B) Frec and fair

(C)  Responsible ruling system (D) Rulcof majonty
10. TR H FwerA R F &

(A) AR F A T

(B ATRE F IR-FEA FHAR T

(Mrﬁﬁ % farrqel gewifral |

(D) ARt Fw e wfa & fral @1 8 W

Success of democracy depends on

(A}  disinterest of citizens

{B) illegal activites of citizens

(C) ac}ivc participation of the citizens

(D)  sccure the benefits of their caste by the citizens
1. &gR H W& S T FIROE &
(A) I 8 | TE B gk

(C) < T By FETEER
Bad cflect of feeling of regionalism is

(A)  Attachment to own region (B)  National interest

(C)  National integration (D)  Separationalism
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12 ®uen

Wy srrdioha g o) e Tt
(C) 93 danm (D) T W P
Conl is
(A) Non-renewable resource (B} Rencwable resource
(C)  Biotic resource (D)  None of these

13.  EIFA R
13~ SHfaE 3 (B) WFE 393
(C) T EFT 9T (D) T VR A
Landslidc is
(A)  Natural disaster ' {(B) Man induced disaster
(C) Normal disaster (D) None of these

14. TRTATR a9 & 94 &1 9RonT §

A feregem (B) wwaW
Jor” A O ¥ {FE T
The result of vibration of ocean bottom is
(A) Avalanche (B) Cyclone
(C) Tsunami (D) None of these .

[111 | H [5011-H g8 Page 7 of 24



1S, Wl %) wg w e gt a8

(A) U am @ i
};', . ) A
The scismic wave reaching the carth’s surface first i?
(A) P wave (B) Swaye
(C) Lwave (D) Twave
16. AT & T ¥
(A} AR B TEI
€ W R} Py~ T A A

Tsunami is related to

(A)  Land (B] Sea

(C) Sky . (D)  None of these
17.  AGHEE T WEGH F A G R 8 2

() T oy i o 3

(€ wrieE e v wEt () ¥ A HE T

Which institution promotes long term loans ?
(A)  Agncultural lenders

(B) Land Devclopment Bank

(C)  Primary Agricultural Credit Society

(D)  None of these

[ 111 ] H [5011-H nig
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18 uﬁh:fvxmma‘mnmm%?
(A Fi e @) oy
(€) fmn e o~ W e

Which in the third sector of Economic development ?

(A)  Agriculture sector (B) Science sector
(C)  Education sector (D)  Service sector
19. ¢ anfiaw siffa o} fend wltfem fem ma 2 hetp://www bsebstudy.com
(A TR @ Frotem
© Ao o e

What was included in the New Economic Policy ?
(A)  Liberalisation (B) Privatisation

(C) Globalisation (D) All of these

20. I X1 e W@ & feg sk yew e e § 2

(A} 50%e B) 70%e

(& 10%0 O A et

What is the application fee for making a complaint by the consumer ?
(A) Rs.S0 () Rs.70

(C) Rs.10 (D) No application fee
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21,  FJunreT vaw fraw w9 =

A) 1779 @ 15 ard
(€ 19 ¥ o 22 374
When is Consumer Rights Day celebrated ?
(A} 17th March (8) 1 5th March
(C)  19th Apnl (D) 22nd Apnl
22. éw‘rmé::;mm?mﬁk J
LS B
JC! g4 D) 1
How many [actors constitute globalisation ?
Wl Ghe B Two
Jor” Fwe D)  Four
23 ®R-E ¥ R-EER X 2
A ¥ W B
= w7

ch Hie | (D)
Which of the following is a non-government service 7
(A)  Police service (B) Finance service

(C)  Mall service ' (D)  Railway service
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24 wRa & fadita T few v S s )
N B feest
(C) & (D) T
Which is the financial capital of India ?
(A)  Mumbai (B) Delhi
(€} Patna (D)  Bengaluru
l2s. @9 Ty @) e 4 &
Wy fefea B) fwal & favrem
(C)  TEE( THA (D) Warea e
Which is not a characteristic of a federal state ?
(A)  Written constitution (B)  Power distribution
(C)  Unitary ruling system (D)  Supreme Judiciary
26. ¥ IR H IR
Ay amftE B dH
(C) fae= (D) {'ﬁ q ﬂﬁé qﬁ
The example of federal government is
(A)  Amcrica (B) China
(C) Britain (D) None of these
v, g & ot e v e Pt o @ et e 2
) R 2 () i FW
© <fear indt pr/ FAYHNT ARGV
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te Revoluy
. i | Complete 1on)
Who among the following led the Sumpurnd Kran Y

Bihar ?
' umar
(A)  Morarji Desai (B) Nitish K
araynn
(C)  Indira Gandhi D) Jay prakash Naray

T e ——e e S LS A
() e s & e e §
B) il & g zawmEt @ wera & 4
(C) mmﬂmmtmwﬂmmm*
O B i s A g el & v anfes A A AR
On which of the following points did democratic systcm get success ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups arc trcated cqually

(D)  Reduces the economic grade for the poeple standing in the last line
29, T ¥ 39w (Freie e 3umg) o i femafere @ € 2

(A)  FHEIW & fere | e fasm & feg

(€ HanE # @ & fore (g a;rqm ¥ fem

For which purpose is remote sensing satellite used ?

(A)  For telecommunication (B) For meteorology

(C)  For searching the resources (D)  For television
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30 B3 97 v @ s dideie am oy o

(A) AW ) =

€) ¥ Dy

Which of the following is the most sensitive city to carthquake ?

(A)  Dchradun (B) Ranchi

(C)  Hyderabad (D) Chennai

31, Fedaf fonrasunamd )

(A) G (B) ¥
_or” fam D) feeett

Which of the following is called backward state ?

(A) Punjab (B) Kerala

(C) Bihar (D)  Delhi

32. WRA | fawiig aq :19 g1 A g 2
(A) 1 9Fa @ 3) K @ (B) 1R ® 30 5H d&
Sy 1 30 | 31 U 7% (D) 1 feaEr @ 31 3T T
Which of the following is Financial year in India ?
(A)  From lst January to 31st December
(B) From lst July to 30th June
(C) From lst April to 31st March

(D) From lst September to 31st August
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) ani2 u L @) fq'.u( ‘;\Pvﬂ A fwn g h'{ﬂi e 4

(A s oy A RIGEG

(C) POTRTEEN (D) Wﬂﬂ

i our ?
In which post did Victor Emmanucl appoint Count Cavour

(A} Army Chief (B)  Ambassador in France
(C)  Prime Minister (D) Home Minister
34, T ud A # sifa @ e fee fea a2
)t ar feee®
€ fowrd o) fafaaai

Who started the policy of blood and iron ?
(A} Mazzini (B)  Hiler
(C) Bismarck (D) William |
35.  UNFAR WA F1 GFA TN FE EIA 91 2
(A) w4 (B) UM
(c) M (D)
Where was the ﬁ;'st experiment of the communist governance started ?

(A) Russia (B) Japan

(C) China {D) Cuba
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an

37.

38.

39.

denfa wifn w9 g8 ?

(A} w1917 (B) AW, 1917

(C) 3N, 1917 . ) faa, 1905
When did the Bolshevik revolution take place ?

(A)  February, 1917 (B) November, 1917
©  April, 1917 | (D)  September, 1905
) i g afcdorn favw e o v & 2

W g | () Ham

©) TR (D) T S

In which district is Kanti Thermal Power Project situated ?

(A) Pumia (B) Siwan

(C) Muzaffarpur (D) East Champaran

I gg FE R § ?

Ay TR | (B) SR

© ®rR (D) W

Where is the railway workshop situated ?

(A]  Jamalpur (B) Bhagalpur
(C) Munger (D) Patna
TR T TG TR0 L ?

(8 W | T (B) ew & F e
(€ UEA W I o) i { W
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What i the main caune of Tsunami ?

in plain arca
A} Earthquake i sea (13) l‘lnrﬂl‘l‘“'kc |

8C.
S - . s c ()[ lhc‘
(€} Earthquake on mountain (D)  Non

40 }’p]’(s b ol k ?

21
J\/ EAGD Y4 D) A Afret A

5 91 A2 Tl
(C) UL 39T p) FHE !

What i1s drought ?

. ¢ disaster
(A)  Natural disaster (B) Man mad

(C)  Normal disaster . (D) Nonc of these
1. e R v i @ e wR R
W FE @ A O
© ¥ wERw (py” s s
The main cause of land degradation in Punjab is
(A)  Deforestation (B) Intensive cultivation
(C) 6vcrgrazing . (D)  Ovenrrigation

42, 9F9 YRR | 9 & A0 @6l &
(A)  55% (B) 60%

16" 65% D)  70%

Amount of water present in human body is
(A) 55% - (B) 60%

(C) 65% (D)  70%
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43

44,

B 3l 3 a¥a dorer i & @ s g2

(A TGy Mg}f%;,‘.]
. §
(€C) &« (D)  gan

\ L T .
Vhich of the following creatures is found only in India ?

(A)  Crocodile (B)  Dolphin

(C) Whale

(D)  Tortoisc
dIR. JUM F WY@ e o &
y FARR (B) IR
€ TR (D) % I

The main raw material of cement industry is

(A)  Limestone (B) Bauxite
(C)  Granite (D) Iron ore
=99 wg9 A U =R B 9 2

(A ¥ (B) i
o et o

Who were the first merchant to arrive Indo-China ?

(A) England (B) French
(€ Portugal (D) Dutch .
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a0 wirTa s et wa AE 30 7

930
(A} 1920 _)’/ 19

(C) 1935

When did the civil disobedience movement atart ?

(A) 1920 (B) 1930
(©) 1935 ) 1942
47 TIEE Aw-yEE Jom R
wy ifem & @ RS H
(€) WA WNH (o) o7 qme
Rourkela iron and steel industry is in
(A) Odisha (B) Jharkand
(C)  Madhya Pradesh (D) West Bengal
48, WA R @ wEE T @ T e @ g 992 :
w it s (B)  HEE TG
€ ¥ wfa (D) T F

Which type of attitude emerged in urban system lcaving the feudal system

behind 2 http://www.bsebstudy.com
(A)  Progressive attitude (B)  Aggressive attitude

(C]  Orthodox attitude (D}  Exploitative attitude
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TUs - 4 / SECTION - B

zfae™™ / History

&g I W99 / Short Answer Type Questions
gv7 @59 18 sawagraﬁvf:raﬁ#faﬁsw#*mélmmﬁfav
23F fratfea #1 3x2=6
Question Nos. 1 to 5§ are Short Answer Type. Answer any 3 questions. Each question
cames 2 marks. 3x2~6

1. e A T S e A Rz @) i w2

What was the role of Austria in the unification of Italy and Germany ?

2

5 TS 4Tl T E41 Y 91 2 2
What was the objcctive of Dandi March ?

3 sy SRR wae 9 e an” o & 2
“Non-cooperation movement was the first mass movement.” Comment.

a. st 3 Aol ) s ) e g e 2 2
How did industrialisation influcnce the livelihood of labourers ?

5. rxh%ﬁmwﬁﬁmmﬁfaﬁmﬁﬂﬂﬁl 2
Mention the characteristics of agro-cconomic activities of villages.

2 I9{q W¥7 / Long Answer Type Questions
qvT WA 6 A 7ﬁﬁmﬁvilﬁﬁ#ﬁ:ﬁwaﬂrmi1yﬁsm*ﬁw 4 3F
Ix4=4

Frrurtfea &1
Question Nos. 6 and 7 are Long Answer Type. Answer any oné of them. Each question
I1x4=4

ﬁﬁfﬁ!,waﬁz#ﬂmﬁ'}%ﬂmﬁhﬂaﬁﬁ! 4

i, Cavour and Garibaldi in the unification of

carries 4 marks.

6. 32l & Tl
State the contributions of Mazzin

ltaly.

Page 19 of 24
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wod Apnysqasq mmam//:dny

http://www.bsebstudy.com

7 at st sifa qa @ fadan wt

What is New Economic Policy ? Discuas.

e fa@= / Political Science
jons
¥Y I 9T / Short Answer Type Quest s
¥ W 8 @ zswﬁqﬁﬁwﬁnﬁ#wzwé;mg,m : 2’%
2 3% Fraifra 1 ‘

stions. Each question
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 questior

2x2=4
carmes 2 marks.
S WA i frer g e SRS ) ¥ 2 W # 2
How are the caste based differences prevalent in India ? Explain.
PGPS S PR ——— 2
What is the importance of Powcr sharing in dc.rnocrat:}' ?
10. TR 4 g0 oW HReH & @ FVI FNL 2 2
What were the main reasons for the students' movement in Bihar ?
) s w6 s o o 3w E 2 2

. How do you sce the future of democracy in India ?
y IR FHA B G TR 2 2
Terrorism is a challenge for democracy. How ?

13. Wl ¥ | Sehed @ feer) ok e wows i oo R 2

Write a short note on the responsibility and objective of democracy in the
coming society.

[ 111 | H | 5011-H gg Page 20 of 24
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3 It v / Long Answer Type Questions

o7 HOU 14 V9 15 T 3wira &1 i w fivet o o7 3¢ 31 e g o A
4#5%#' Ix4=4

estion Nos, 14 q

Jues : and 15 are Long Answer Type. Anstwer any one of them. Each question
ames 4 marks, | xd -4
N e A -

~

A e s 3w o e v & R o S @ A
‘mnliﬂizlﬁ§| 4

Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.
15 RO T AT FR A @ wEa 4

How could democracy be successful in India ?

ey |/ Economics

oy I v / Short Answer Type Questions
0sT WEAT 16 R 187% g I §1 y6 # R 2991 & I 7| yAF 9 & fy

2 & frutfea *‘I 2x2+4
Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question
carmes 2 marks. 2x2=4
1o sMeaed [l FEd € 2 2
by

What is Economy ?

17w T & WY ey i 2
Explain the relationship between Income and Poverty.

187 ATMER? 2

What is ATM ?

| 111 ] H [S011-H s Page 21 of 24
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#it Tfia W / Long Answer Type Questions
o wear 19 w4 2oﬁ#zwﬁvfrni#ﬁsﬁwwmt’lm
4 X% Fraifta 41

Question Nos. 19 and 20 are Long Answer Type. Answer any onc of them.

gya & AV
1x4=4
Each question

-4
cumes 9 marks. w4

19. m&mmmi?mtmﬁmqﬁmmmﬁ' 1

What are the important clements of co-operation 2 Explain its role In

development of a state.

)0./ e & e e e e & w9 A f e o e ¥ > g giea ferd | 4
Explain with example how India is known as service provider to the world.

\{'ﬂﬂ/Geoguphy
WY 390G W / Short Answer Type Questions
mmm#zsmagawﬁvhrai#fiﬁﬁsuﬁtmi:mmtﬁw

2 3w fraifea #1 3x2=6
Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question
camies 2 marks. 3%2+6
21, EEE T, 53 e § (68 TR T ¢ ? _ 2

How is crop rotation helpful in the conservation of soil ?
}/qmaﬁaﬁﬁémtmmmaﬁﬁm ' 2
Describe the causes of pollution of the rivers in India.

y/mﬁﬁ%ma%anmmﬁﬂmﬁﬁﬂl . 2

Mcntion four main faqtors of wildlife deterioration.
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247 A & yaa vd gdue W AT 9 @ X 2 2

What do you mean by the conservation and management of mincrals ?

B 3 & IR F QAR 2 2

")
wn

How' is solar energy produced ?

g I W / Long Answer Type Questions
QT WO 26 VA 27 39 Iwra &1 39 ® fEAt 0w &7 I ¥ 979w 9T & fav
4 3% fuifra #1 1<4=4

Question Nos. 26 and 27 are Long Answer Type. Answer any one of them. Each question

cames 4 marks, ] nq4 =4
26.  FERIETV, frfaer 3l A @ s R W 2 4

What do you mean by liberalisation, privatisation and globalisation ?
ymaﬁauﬁmﬁwﬁm@mﬁmmmzﬁmn 4
Describe the importance of transport and communication in Indian economy.

19T WU / Disaster Management

g IANT qH / Short Answer Type Questions
oyT §8AT 28 % 31 7% g 3w &1 34 @ et 20971 & 3¢ §1 9F 49T & fv

2 3% fraifva 1 2x2=4

Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question

carries 2 marks. ' 2x2«4

28. 3930 fFea TFR F et € 2 2

How many types of disaster arc there ?
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29 )ty & fag qum ety

Suggeat measures to control flood.
307 v o g & W s we wifag)
Differenuate between Earthquake and Tsunami.

31 wwfems v | et v S e s s W)

Describe the role of local administration in emergency management.
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